1 FESEREW(CI)

SH4EE

KEFEEHA RS> (JWWA Q 100 : 2016) Hih&

I o BIREE X HBEE | DIMEE e
BEZ 948 X5 | BS CI% (202068) | (202168) | (20226E) BAfi] &
T KESERD CI1 [#&KAORE 274,726 271,908 268,238 (N) RIERAKAD
JOJ+ - CI2 |2RE#H 141 141 141 (N) ESE
=K (B | Bk (Bh) | Bk (B0
EHFK EHFK EHEK
CI3 [KIEFER! EHPK EHPK EHFK - -
S AT LD SEIK SBIK SBIK
FOT 1 —)L Bk kK kK
Cl4 FKSKE 0.1 0.1 0.1 (%) KRS / FRIBUKSE
CI5 #kAOL1B AL DDFKIES 0.15 0.37 0.37 (#F7/10,000A) 9kigsk / (RIEMRKAD/10,000)
CI6 [#/KAO1RASEDOKERE 0.84 1.14 1.16 (EFF/10,000A) | CEskigsh+i% - BUKMER) / (RIEMKAD/10,000)
o Cl7 BIUKEFE 1.38 1.33 1.29 (1,000m3/ha) | BIVKE / SHEHA KRG
SO - CI8 JKEA—5—FE 111.5 109.6 108.6 (18/km) KEA—5—# /| BUKEEER
CI9 |EUEIEE 5.04 5.24 5.35 (m/N) ERAUKEIER / BIEAKAD
X DHBFEELDKESENA RS > EHICRHBKESEREBIUZ,
2 EBIBIRPI)
PIStE1E
Bz 5] X5 55 PI& DIHREE X | [H3FEE | HHIFE i==1iy) TER
(20204EE)  (20214EFE) | (20224F)
A101 THIREBBIEREE 0.38 0.39 0.39 (mg/L) RS REE A RRIERIEEER
R . . 20.0 (B, 1aEw) . ) .
A102 BAHERYIEREKBELEILR 0.0 . 0.0 (BAH ERYERE/ KEEEME) x 100
(ZTARXZY) (%)
A103 # RU/\OXY U EE/KEELELR 17.0 22.0 15.0 (%) (5 1RIKAR DK NNINGVIRES $a7KA2ER) / KEEHEMEX 100
A104 Bt (TOC) BRE/KEEAELR 13.3 6.0 5.0 (%) (2 ke EY (TOC) SRR 1akieEN) / KEE#Ex 100
40.0 40.0 40.0 (flE, BEEL) )
A105 ESEREKER%ER (EZRV (EZRV (EZRV (%) (Z KIS DY HEEBIRE HKISE) / KEEH#E@Ex 100
N KEEE ZolEa) ToE) | Zoa)
Z A106 |fEHYEEE KB ;;;) (;;;) (;;;) (e, (i)@z) (2 BIKAR DY B EE RS 1A7KASER) / KSR EX 100
T A107 BHMtZMERE KSR 0.0 0.0 0.0 (&, JEBZ) (T BKRONEMC S ERE RKI8E) / KEEEMEx 100
o EEEE 233 333 20.0 (5. FEES)
- A108 |HEEIERYIEREKEEEE (hFUzOo | (~NUrOOo  ((oOod ! (o;;) (= HAKIE DU E SR RYDER f7KIRER) / K EE#(EX 100
2 _ izi79) izi79) izi79)
A109 REEEEKEEEBERL 0.000 0.000 0.000 - max =(Xij/ GVj )
x A201 |BAKBERE 107 106 106 (188) BkKKEERIBE R
A202 HEKAKEIRE (B0) BREE 13.2 16.2 16.2 (BFF/100 km?) |(WEKAKERE (BH) SUKERE/RIERKER)x 100
MEEREIR | A203 BACHSEIREMER 21.3 21.2 46.7 (%) (SERICHEIR UK ES SR / BUKHEHESE) x 100
A204 |EEIEKER 99.2 99.2 99.2 (%) (EHREHE7KIEES HE7K A ER) x 100
A205 FFKiEKEigER 100.0 100.0 100.0 (%) (BB KBS / B KAEKESR) x 100
SHE| A301 KBROKEBSEHREE 0 0 0 (%) FERIKBUK B EHER
e | A302 FRIEIERAIBIEER 72.1 64.0 57.4 (%) (B MR ERIMIE K S/ ERTR/KE) x 100
MEESEER | MEEREERT | A401 [SRBMAKER 3.6 2.9 2.8 (%) (SRBUHAK BB/ #E/K 1 ER) x 100
B101 |BERFEKER 32.3 34.4 34.4 (%) (BEREKEKE/2KEKE)x 100
B102 HuKE1m Uiz DKERSIGEEE 0.84 2.4 2.4 (/m?3) AKBMRR(CIYE U= B/ RIEUK S
B103 |[thTF/Kk=E 29.1 28.7 25.3 (%) (HFKigKE / £ERIEUKE)x 100
B104 fEsRFIAZ= 66.4 65.5 66.9 (%) (—BPIBKE/HEREE ) x 100
B105 BABE=R 72.8 70.8 77.0 (%) (—BRABUKE/HEREEH)x 100
B106 &= 91.2 92.6 86.9 (%) (—BFIEkE/—BEARIKE)x 100
B107 EUKBLEEZE 6.6 6.6 6.6 (km/km?) BRI KETE
B108 ERLAR 39.2 35.6 36.8 (%) (AR U EIRIEE / BHIER) x 100
MEEREE | B109 |/ ULTSg= 0.0 0.0 0.0 (%) (BRUZ/ULTER / JULTRES) x 100
B110 K= 9.3 8.6 9.2 (%) (FRIR/KE / FRIEKE) x 100
B111 AME 90.4 91.1 90.2 (%) (EREMKE / FERIBUKE) x 100
B112 A= 87.7 88.4 87.7 (%) (FRIEIUK R/ ERIEKE) x 100
B113 ELAKthETERRE 1.00 1.01 1.03 (=) FksthERA R/ — B IRk E
B114 [#&kKAO— A= DEIKE 320 318 316 (w/8-A) (—BFIRUKE/RIERKAD)x 1,000
% B115 #&/KHIFRE%K 0 0 0 (=) FERIAKHIREE
= B116 #A/KERE 99.8 99.8 99.8 (%) (RIEEAKAO/H7K XM A O) x 100
L B117 RfEmiRsEER 53.1 54.6 53.8 (%) (FiRtas By MR- R SHEMERDAETER) x 100
= B201 BKkiEEiREE 0.00 0.00 0.00 (15/10 &-&FF) | 10FROEKSEIEBHEE / BKER
X EBEEE B202 | SEHIBFRTAKACR 0.2 0.2 0.2 (%) (SERTISHK A /ERTERA7K A ) x 100
B203 [#A/KAO— AL/ DEFERERRIKE 160 162 164 (N (FACHEDEE X 1/2 + B2FTKIBEE)x 1,000/BEHEKAL
ft)t B204 EBEROEHREIE 4.3 5.7 6.3 (#£/100 km) BHOBHER /( BWIEE/100)
7 B205 EREROEHES 0.0 0.0 1.6 (/100 km)  EREmOBH4LS/ (EHEELE/100)
ta EHNE| B206 #HEBWOEHES 0.4 0.4 0.7 (#£/100 km)  SEEWOBHRAE / GAREIRER/100)
MEE | B207 | IEMBEROBHIIS 13.5 17.9 18.8 (#£/100 km)  ESXBIEIROBEHME / (FESRREWIEER/100)
B208 #AKEBEDSBIHEIE 1.3 2.8 2.7 (1£/1,000 )  $A/KEOBHEER / (K2 1,000)
B209 '::;;)\D ASTE DA - ik 0.00 0.00 0.00 (B5R8) SR - BKEERT x BiK - BRI AD) / BRIEAKAD
B210 HE3ERINIMRSEHEDER 3 3 3 (B, £E) FERIDK BRI EEER
B211 HANIERBRE 2.4 2.3 2.3 (B/km) SHNARE / BUOKEER
B301 EUKE1m3 HizhEHEES 0.26 0.27 0.26 (kWh/m?) EHERBOAE / FHIEAS
B302 BUKE1m3 YD BEBIRILF— 2.67 2.78 2.62 (M3/m>) TIRILF—EER / FRIBUKE
p303 "AHIMS A BRI 142 137 133 (g CO/m®)  |[ZEALHR (CO2) HhtE / FERIEAR] x 10°
S (CO,) HrtE
B304 \HB4&£RIEETRILF—FIFHE 0.000 0.000 0.000 (%) (BETRIILE—RBEOBNERS / SHEROBEHEAE) x 100
B305 HukRELELTOENFAR 100.0 100.0 100.0 (%) (BRI E / BkFELE) x 100
B306 EREIEMDOUHAIILR 30.8 32.3 43.7 (%) (UBA DL ENERaEye / BREEYSRES) x 100
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PIETEIE
B oM Ep | & PIZ, SHEE | DHBEE | SR i s
(2020£E) | (20214E) | (2022FE)
HrayEsE B401 A5 ILEEHE - HEX 70.0 69.7 69.2 (%) (PO EIER + ETER) / BEER] x 100
B402 EIEOIFHEEK 0.17 0.45 0.76 (%) (Y ERIER/EBLER)*x 100
B501 EATEMFGEEERKERER 9.9 11.6 12.1 (%) CEEMAFEHRZBR TV\DEKIEEREEN /25K IEE%EES) x 100
BSO02 AETAEAIBERIAE 15.6 24.1 23.6 (%) CHERREIERT CLSTIN - B SRR cosst
HesamEs i _— ﬁl%*ﬂk - BX '?T%EQ_@@C@‘SET@) x 100
B503 JEEMAFELBBRAERR 41.7 43.3 46.0 (%) CEEMAFEHRZBR TV ERER/EIRIER)*x100
B504 EROEHRR 1.11 1.16 1.06 (%) (B ENERER/EBLER)*100
B505 EBROELR 0.000 0.016 0.000 (%) (BEENERER/BBER)*x 100
B601 RiEEIDEKELESR 0.0 0.0 0.0 (%) (FKRENERE /24K HEE%AES) x 100
% B602 EKhEsRDME( LR 34.7 34.0 32.8 (%) (MR DS NIz iFK R EE /23K IEERAES ) x 100
T B602-2 KB DE BABEHIMAE (LR 31.7 31.6 31.6 (%) Egi ﬁﬁ?iiﬁiiiﬁgj’iﬁ;?ﬁx D+ SRDTIEOMR
L B603 MR IARDMZE{LE=R = = = (%) (MBI DS TR TFEE /MBI RN > TFEES) X 100
1z R B604 BAthadmiE{bER 81.8 82.0 82.0 (%) (MEMEDEENIZRAMENEE/MKMETNEE) %100
7K B605 ERDMEER 15.7 16.1 16.2 (%) (MEEEER/EBER)*x100
) B606 EH#HEROMEER 34.0 33.2 33.1 (%) (BRERDS SMEELR/EHERLER)*100
{H® B606-2| £ EROMEES R 66.1 64.4 55.2 (%) (BEHERDS 5MEESM DS S ERLER/EFERER)* 100
4 $i§;§ B607 BT KSR EEOTHEES 40.1 36.1 35.9 (%) i%iﬁﬁ7kﬁﬁ§ﬁﬁﬂ7k%ﬂ§@5'5mﬁ%%ﬂﬁ/@gffﬁﬂ(ﬁﬁéﬁﬁﬁkﬁﬁﬁﬂﬁ)
B607-2 BB KITRIKEROMBESE | 94.1 91.9 84.5 (%) (REEAGRIRAOKFHD S SHIRASROS S BISER/ BRI
Aok EREER)*x 100
B608 {FERFAC/KSEMHAR 117.3 115.8 118.1 (%) (EHEERIFERF (CHER T = DEL/KEEH/—H 98 KE)x 100
e 0 e YR ERITE R/ SER—BHFEERE) X I (FERATEEZ/18
B609 EmfmZH%K 36.5 41.0 35.7 (8) %ﬁu_aqzﬁﬁﬁﬁé)@ag\ /J\él/\jj_@'ﬁ; (
B610 MArlmZEHZL 1.0 2.1 2.8 (8) TERRETE R/ —BRRERE
B611 CEfE/KEEREE 2.5 2.4 2.4 (/100 km?) | IS2ia/KiE:R %/ (BRTEM/KETE/100)
B612 #A/KEREE 0.011 0.011 0.011 (&/1,000 A) ¥RKEEEY/ (IRTEHEKAO/1,000)
B613 E#HADIEKI>IREBE 0.11 0.11 0.12 (m3/1,000 N) |E#HABKT>ODEE/ (87K AL/1,000)
C101 EZUNZIEx 100.6 98.9 104.7 (%) [(ENGR - ZETHEING) / (EXBR- ZEITHHE) ]x 100
C102 ERINEILE 100.7 99.5 105.3 (%) (B3R + 51 IR )/ (RS + BESVEF)]x 100
C103 #8UNszthze 105.5 103.9 105.3 (%) (HeURZS/#E )% 100
Cl104 RBERIB\ELER 0.0 0.0 0.0 (%) [BRERIEE/ (BN - FFETHINE)]x 100
C105 #@AELER (URZEHIURA ) 0.2 0.2 0.2 (%) (IEEIBNTERRA &/ UNZSHIUNA ) x 100
C106 #EASLEE (EAMUAT) 0.0 0.0 0.0 (%) (BAB)ERAR/EARIIIRAET) X100
C107 B8 — AZ/fz DiaKINEE 29,641 28,082 29,705 (FH/AN) fa7KINGS /1R BV TE PR B S 25
C108 #a7KURER(CHt o DHBRSEDEIS 23.3 23.7 21.4 (%) (MBS E/fa/KIE)x 100
C109 #a7KURZR(CHt 9 DIEEEFBDEIS 4.8 4.6 4.1 (%) ({E2EFIS/Ha7KUNES ) x 100
C110 |#E7KUNZS (CXt 9 DIMBEINEDZIS 38.5 40.4 38.3 (%) (REERNE/#a7KUNES ) x 100
C111 ﬁ;éggg;iggﬁa@tw@ 15.5 16.5 16.1 (%) (BB DTz DEEEE T E/Fa7KINE) x 100
C112 #E/KURZR(CH 9 D EFEEEREDEIS 302.0 301.8 280.1 (%) (1B R/#E7KUNES ) x 100
C113 #RIEDURER 95.6 93.4 99.8 (%) (tHa B/ %7K R4 < 100
Wi mere) 10 PERE e BT ) T ——
C115 #&/KER{ 182.8 186.6 191.0 (H/m3) BREEEA)] / EREIKE
C116 | 1 H"B10 m’He DRERRE 1,298 1,298 1,298 (M) 1 A A10M Yz D RERNE
C117 | 1 HE20 m’He DRERRE 2,728 2,728 2,728 (M) 1 A A20mM> Y= D RERNE
C118 | m#Entt= 480.0 283.3 385.8 (%) MENEE/RENEAE)* 100
2 C119 HCOERIEMLEER 69.6 68.8 70.3 (%) [(BAE+RIRE+IHOELRR EHGEUNZ)/ BfE - EASET]x 100
2 C120 EIEL= 123.1 127.8 126.7 (%) [EEERE/(BARE+RIRE +FHEZERRS & HGEINE)]x 100
7 Cl21 EEEETe A 45.5 45.8 47.4 (%) oy oI CURRARRIR SRS
= C122 EEAEEHE 0.1 0.1 0.1 G) (BN — BT BN/ ((MEEEAE + AREEAE) 2]
* C123 EBIEEEEARIE 6.8 6.4 6.3 (m3/7M) FRIEKE/ AR EERE
EJR: C124 HE—AHZDBIUKE 170,000 161,000 156,000 (m3/A) FRIBIUKE / IERBEFTBIE
= C125 M&EFBEKRRDEES 0.00 0.00 0.00 (f4/1,000 ) SRRIEFERMAE / (BEEERAE/1,000)
C126 HIERUNHHER 90.5 90.5 91.2 (%) (BEM AR §3(S8R) x 100
C127 HEKELLEIS 6.9 4.8 5.7 (/1,000 ) faKIBLIEHE) / (Fa7K{F#1/1,000)
C201 KERICET B BREER 2.02 1.89 1.94 BN BESEELCL S KERRCRT SEE SRR
C202 4MEBERHMERFR] 0.6 1.0 7.0 (BERE/AN) (BENIEIHMEZZ (TR X ZBAR) / 2B
C203 PIEBFRHMERER 2.2 5.2 5.0 (BFRE/A) (BB D WBMHEZ 2 (T TR X ZEBALN) / HEE 2K
— AMBR| C204 FitiERER 68.8 69.5 69.5 (%) (A Sy / £HEE2L) x 100
e C205 /KEZHEBFIIREREL 9.5 9.8 9.0 (&/N) BB DKEHEFSIRFREL | SIBH
C206 ER#HIIMEEZ 0 0 0 (A-B) s (ERREE S x HIER)
C207 ERBHEAER 0 0 0 (A-B) 5 EBHIEASS x WEEH)
segemsr C301 #R&t&EFEER 97.2 96.9 97.0 (%) (BFEUTKEA =S —8 [ KEBEA - —FHEE) x 100
C302 HKIZEHE=BEETEX 0.0 0.0 0.0 (%) (BB=HEHFZF UIRKISOFKIEREEN / £FKHEEREES) x 100
C401 |[LIRES(C KD IBIHDIREE 1.7 1.7 1.7 (BB/15F) [LEREETR EDBCERER / fa7k AR
IR CA02 (> H—Fy NCKBIMROEME | 50 71 122 G) 5T TN~ SADIBHIEER
HESE C403 K REEDS 0.0 0.0 0.0 (A/1,000 A) RFEH / (R1EraKAO/1,000)
&En3 C501 E=%#E&E 0.091 0.12 0.12 (A/1,000 A) TS A/ (R1EREKAO/1,000)
s C502 7> — NERINEEIS 0.00 0.00 0.00 (A/1,000 A) 72— NEIEAS / (BRTEHEKAO/1,000)
-3 = EIRE C503 E#FERAX = = = (%) (BEERAEIZEL / 77> — bEIZEE) x 100
> C504 KEH—EX(CHTIHEWNGEIE 0.09 0.00 0.00 (/1,000 14) Kb —EXEEEAER / (faKE4£8/1,000)
C505 KEICH T BRBAREE 0.06 0.07 0.13 (£/1,000 £)  KEEIEHIGAES /| (KEER/1,000)
C506 |KiERE(CH T DHIETLEIS 0.00 0.00 0.00 (/1,000 1)  KERESEIEXIGHE / (FaK4E/1,000)
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